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2R rules like 57797 %29 — 71737° 9292 2N

Overview

The X102 R1w°H of the Xnx assumes that the npYonn between X271 »aX in a
case of 2"va o7RY % 827 7RIT is when it is M2 XPY WwOR XD, The X
explains that »aX who maintains that it is 20 follows the opinion of 329
a7, It is not clear where " stated that 712 Xp1 2waR X2 is nm.! Our
MdoIN will explain this.
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It seems that "°aX maintains that since in a case where it is TWbR (it is
possible to do without) and he has no intent of doing the oY, it is
forbidden to do the act; and in a case where it is "wWsX XY (it is not possible

to do without) and he has no intent of doing the 0K, it is permitted to do
the act -
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It is evident that the =m°°R is because of the WX factor, and P1>nn is
irrelevant, for even if he is wnn X9, it is MoK if it is woR. The 1AM X2 does not
diminish his liability (when it is 7wsX); indicating that it is irrelevant. The reasoning
(according to *"aX) is since it is possible for him to forgo this act (which will cause an
70°R), therefore it is 710K, regardless if he is 11507 or not. It follows that in a case where
it is TWwdR X7, that he is permitted to go ahead and do it, regardless if he is 12n» or not
(since the nX17 is coming to him 1712 92 [and it is WK K?)).

mooIn continues that based on this understanding, that 2% Xp1 WK XY is IMn, even
though that 12m “woK is certainly TOK; indicating that TwsR X% is more lenient than
woR, we will be required to amend a X07°3 in naw 'on.
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And that which was written in some texts in °P°»7» 12 P79; ‘and he

argues with X?w -
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For X7y maintains that the dispute between w"1 and *"2 (whether one is
permitted to drag a chair, etc) is by small chairs, however by large chairs

"' We only know that *"9 is 90 by 7woX whether it is 71502 or 11207 X2, and that he is >N by X2 WK K>
11901; but not that he is 7°ni by P1onm WK X7, See »aRr 17"'7 "W (who seems to say the same as NMdoN).

2 See previous X 71"7 nooN footnotes # 1&2 for an explanation of WoR and WK XY.

3 This is referring to 77> '3 who states there that "1 permitted the 7773 by 29173 since it is WdR K2 but
not by o°3vp where it is 7W9R (to carry it); indicating that the np2nn (between "1 w"9) is only by 2°717a.

4 Others (who maintain this X073) interpret 092173 to be a case of 7w P00 (see however X"aw"7 NOIN).
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everyone (both °"71 w"7) agrees that it is forbidden’; this rendering of the

text (to read forbidden) is a mistake -
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For in the entire discussion a case of "w5X X is more permissible than a

case of "wsNR; and 299173 is a case of WX KY. How can X maintain that by
27173 (which is 2wsR X and more lenient) w"1 agrees that it is 710R?!
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Rather the text should read that by 2°>17) ‘everyone (including >") agrees

that it is permitted; and this is as the X902 X32>% here maintains -
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That by 171292 8% 2wdK K there is no disagreement, for it is permitted.

Summary
"X assumes that according to °"9 the deciding factor whether a 7X27 X173

5"va a7KY is 1M depends whether it is "woK (then it is MOK) or MWwoHKR K7 (then
it is 70 (for 7WwoHR XY is more lenient than IWoK); however 11202 or 150N R
is irrelevant.

Thinking it over

"1 explains °ax that since °"'9 maintains by 31201 8?1 WwoK that it is MOK, it
follows that 1507 is irrelevant; what matters is WX X9 woX. MooN adds
that »ax argues that since *"1 maintains that 1197 89 WdR is MOK and N?
P10 N2 N is My that proves that the Mok depends on “wsR. Can we
distinguish between *"w7°5 and mMo0INT WIND?

3 See previous X? 71"7 Moo that p"79 the view of *"7 is that 7192p X1 WK X7 is 7IOK.
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